Adv. No. 06/2016 Cat No. 02, Industrial Extension Officer (Industries and
Commerce Department, Haryana)
Evening Session

Q1. Megasthenes, the ambassador of Seleucus Nicator of Syria, visited the court of

A. Chandragupta Maurya B. Samrat Ashoka

C. Samudragupta D. Harshavardhana
Q1. HIRAT F Fegahy et #1 Tsigd, AU, & AR H T 4|
A. Tigared HIF B. T&HTE 3720

C. gHgIred D. g¥ay

Q2. Roger Federer, the Wimbledon men's champion 2017, is from

A. United States of America B. Switzerland

C. Spain D. England

Q2. Rawsa 73w ARIeT 2017 & RAFar I FsW ¥ g T §
A. TgFd T AR B. ffacsrels

C. ¥ D. 9ol

Q3. The ancient pyramids are found in

A. Turkey B. Egypt

C. Iran D. Saudi Arabia
Q3. yreT Rufas # qro s #

A. THt B. A%

C. &t D. 34! 3R

Q4. The maximum age for Indian citizens for accident insurance cover under Pradhan
Mantri Suraksha Bima Yojana is

A. 55 B. 60

C. 70 D. 65

Q4. WuTeT FH3 FI&T AT ANrelT F AT geear ST Gt F fv ey anriet A srftwas srg e
a¥ gl

A. 55 B. 60

C. 70 D. 65
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Adv. No. 06/2016 Cat No. 02, Industrial Extension Officer (Industries and
Commerce Department, Haryana)
Evening Session

Q5. King Harshvardhana adopted Kannauj as his capital although was the
established capital.

A. Taraori B. Hisar

C. Kurukshetra D. Thanesar

Q5. TS g¥atia & 39t TTereh & T & Fealer HY NI TR TR TereTet oY

A. arRTElr B. fgarx

C. Feard D. &

Q6. Who won the Second Battle of Tarain?

A. Mohammed Ghori B. Govind Tai

C. Prithviraj Chauhan D. Jayachandra

Q6. TS FT gEdr sTs Frwar Sfedr?

A. AigFAg IRT B. aMfdg ar$

C. qdRreT =gt D. S

Q7.___ states were carved out of Punjab on linguistic basis.

A. Rajasthan and Haryana B. Haryana and Himachal Pradesh
C. Himachal Pradesh, Haryana and Rajasthan D. Delhi and Haryana
Q7. NI FHNYUR WU AT ___ [T T A&ATor fFam aram am)|

A. TerEdTe AR gRamom B. gRamom 3R fRATaer geer
C. Te@rerer weer, gRarom AR Tsrears D. feeelr 3R gRamom

Q8. The remains of which civilization were found in Rakhigarhi of Hisar district?

A. Indus Valley Civilization B. Mongolian Civilizaton
C. Vedic Civilization D. Stone Age

Q8. RUR o & T H fFE FIaT & 3799y qrw T 42

A. Ty et it gerar B. AMfagsT gearar

C. afee wear D. STTOT T
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A_dv. No. 06/2016 Cat No. 02, Industrial Extension Officer (Industries and

Commerce Department, Haryana)
Evening Session

Q9. What will be the new name of Ganda village of Haryana?
A. Ajit Nagar B. Gurugram
C. Charkhi Dadri D. Gaibi Nagar

Q9. gR-ATON & a1ieT T T AT ATH FAT §om?
A. 3f9d TR B. Ireame

C. T eredy D. et sex

Q10. How many Air Force stations are there in Haryana?
A. One B. Two
C. Three D. Five

Q10. gRToN F fFaa arg JaT FUT §?

A. TH B.ar

C. di s D. 9T

Q11. The Haryana government provides free education to women up to level.
A. Tenth Standard B. Senior Secondary

C. Secondary D. The Bachelor's Degree

Q11. R TR T aF AfGATt F 7w T gare Ft 31

A. gHaT ATelsh B. 3=a ATeAfA®

C. ATegfA® D. saer &I f3af

Q12. Haryana government plans to run electric buses in on the pattern of
Poland.

A. Faridabad B. Gurgaon

C. Karnal D. Panipat

Q12. RN TWHR ez & deat W # sAf¥ed a7 TaTet AT ST T47 WY B

A. ®ligrsTe B. 9[galia

C. &L D. gr=iiga
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Commerce Department, Haryana)
Evening Session

Q13. Mustafabad has been renamed as

A. Ajit Nagar B. Saraswati Nagar
C. Mustafa Nagar D. Charkhi Dadri
Q13. HTABIETE HT AAT ATH T@T =T B

A. 33T TR B. HIEIC IR

C. FEAH IR D. =R grelr

Q14. Which scheme has been launched for unemployed youth of Haryana?
A. Yuva Hamara Rozgar Hamara B. Employment for Young

C. Saksham Yuva Scheme D. Rozgar Seva Scheme

Q14. RN F NSIR Alerarat & faw e @ A gw 1 715 82

A. gaT §HART AR §HART B. TFCAlgHT BR T

C. Te&Ts JaT Arstalt D. AR AT Astat
Q15. Rajaram Shastri wrote novel in Haryanvi language.
A. Nav-Ratan B. Jhadufiri

C. Haryana-Ka-Itihas D. Tuta Hua Aadmi
Q15. TSRIA ot o gRIToTdt ama & 39T forar 4|

A. FE-TaT B. Sl

C. gl & sfagm D. TeT §31 e

Q16. In the folk dance-theatre form, mimicry is an integral part.
A. Ghumar B. Saang (Swang)

C. Loor D. Ratvai

Q16. A - T A, HFR T Aot 37T 1

A. T B. 1T (F4T)

C. @ D. s
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Q17. Who among the following was the most famous Hindi humour poet from Haryana?
A. Baje Bhagat B. Daya Chand Mayna
C. Gajendra Verma D. Alhar Bikaneri

Q17. Frfai@d # ¥ #ie, g & waw yRg R e w1 472

A. TSt #7eTd B. g3 AT
C. oleg g D. 3fogX el
Q18. Ghulam Farid Sabri was a major singer.

A. Bhajan B. Qawwali

C. Sufi Songs D. Ghazal
Q18. I Flig Tl UF YHE IEF q

A. HSTeT B. shearell

C. ghr am= D. refel

Q19. The climate of Haryana is

A. Dry B. Tropical

C. Mild D. Continental
Q19. g A Ferary gl

A. TsH B. Isurshfeaeiy
C. g@lF g D. Fgledrdy

Q20. Which part of Haryana receives minimum rainfall?

A. North Eastern B. South Eastern
C. North Western D. South Western
Q20. RN # Fy BT & ga@ &7 afer g 82

A. 3eeR qdf B. &fayor df

C. 3ccR qiRer#r D. afetor giRersy
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Adv. No. 06/2016 Cat No. 02, Industrial Extension Officer (Industries and
Commerce Department, Haryana)
Evening Session

Q21. Which amongst the following is called as "Heart of Haryana"?

A. Chandigarh B. Ambala
C. Gurgaon D. Jind
Q21. Prafaf@a # & fFy "gRmom F1 " FeT ST B2

A. TSR B. 3rFaTelm
C. g9 D. sfie

Q22. Where is Bhindawas wildlife sanctuary situated in Haryana?

A. Faridabad district B. Panipat district

C. Jhajjar district D. Karnal district

Q22. N=za T+ S HIRvY ghITom # Fgr ua &2

A. ®w{ierere fSrer B. qreitgd forerm

C. Toor el D. &=Tel ToTelr

Q23. Central Institute for Research on buffaloes is situated in district of
Haryana.

A. Faridabad B. Panipat

C. Sirsa D. Hisar

Q23. AW WU ¥ R Fr srameRaons S d Rua g
A. BlETETE B. dreiad

C. fawar D. fgar

Q24. The elections for Lok Sabha are held every

A. 5 years B. 3 years
C. 7 years D. 2 years
Q24. ANFHST F1 TAT TAF # R e B

A.5a¥ B.3aw
C.7a9 D.2ay
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Adv. No. 06/2016 Cat No. 02, Industrial Extension Officer (Industries and
Commerce Department, Haryana)
Evening Session

Q25. The female literacy percentage in Haryana, as per 2011 census is:
A. 85% B. 65.94%
C. 74.45% D. 69.85%

Q25. 2011 FY SAAOTAT & HTAR gRATOT F ARET FrawRar whevera

A. 85% B. 65.94%
C. 74.45% D. 69.85%

Q26. Principal Seat of Haryana high court is in

A. Haryana B. Gurgaon
C. Punjab D. Chandigarh
Q26. RN 3= =TT T FeTeT s #E

A. g B. I[gana
C. 9oa D. 9ErTg
Q27. The Kalesar forest has trees.

A. Peepal B. Neem
C. Eucalyptus D. Sal
Q27. FTIwT g F 93 {

A. diger B. 1A

C. ghfaceq D. el

Q28. Which district of Haryana has maximum density of population as per census 2011?
A. Ambala B. Palwal
C. Faridabad D. Hisar

Q28. FAIVTAT 2011 F HJAR, FRAOT ¥ T FAGT TAHEAT Fel 0?2
A. 37dTeT B. geradl

C. WIeEG D. fgar
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Adv. No. 06/2016 Cat No. 02, Industrial Extension Officer (Industries and
Commerce Department, Haryana)
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Q29. The famous film actor Sunil Dutt belongs to which district of Haryana?
A. Panchakula B. Ambala
C. Panipat D. Yamuna Nagar

Q29. wfig frewr sfatar golter aea sRamon & v o & & arar 82
A.\iﬂgmr B. 31&dTelT

C. 9=iga D. JHAT IR

]

Q30. Pick the odd one out:

Bicycle, Bus, Tram, Car
A. Bicycle B. Bus
C. Tram D. Car

Q30. WA FT TIA F:

A, 99, T, FR
A. @rsfeher B. s
C.e™H D. &R

Q31. Find the analogy.

ABD : EJL :: IPR:?
A. UYT B. QMR
C. ORT D. HLM

Q31. WA g&|

ABD : EJL::IPR:?
A. UYT B. QMR
C. ORT D. HLM
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Adv. No. 06/2016 Cat No. 02, Industrial Extension Officer (Industries and
Commerce Department, Haryana)
Evening Session

Q32. Find the missing number:

4, 27, 16, 125, ?, 343

A. 112 B. 36
C. 225 D. 300

Q32. HufPyd HEAT AT F:

4, 27, 16, 125, ?, 343
A. 112 B. 36
C. 225 D. 300

Q33. In a certain code, if PAGE is coded as BOOK, then how will LEAF be coded as?
A. GREEN B. TREE

C. STOMATA D. BLADE

Q33. I TF I3 41T # PAGE F BOOK for@T JI1am & @ LEAF &7 F1 for@r sieen?

A. GREEN B. TREE
C. STOMATA D. BLADE

Q34. Find the value of X in the following equation:

3(X-3) = 5(2X +1)

Al B. -1
C.-2 D. 2
Q34. Arafaf@a aHIFor # X &1 A [AFne:

3(X-3) = 5(2X +1)

Al B. -1
C.-2 D. 2
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Commerce Department, Haryana)
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Q35. Consider two events, A and B. Which of the following formulae will you use to
calculate P(A|B)?

PrA 3 P({ANB)

, Plajg) =T P(A|B) = ———
. i i B FlA)
P(A|B) = ZA2) P(A|B) = =2
C. P(B) D. P(B)

Q35. & geasi, A 3 B W AR 1 P(AIB) # 710 F3=t F fow anw Peafaf@a # ¥ frw a7 &1 3w
H3A?

P(A B) = P:;S.‘.' B. P{A B)= hr’;:-s‘
i 22 , P=E
Q36. The total of 12% of 60000 and 14% of 42000 is % of 86000.
A. 12.35% B. 13.45%
C. 14.65% D. 15.20%
Q36. 60000 ¥ 12% 3k 42000 % 14% T T TT 86000 FT % M
A. 12.35% B. 13.45%
C. 14.65% D. 15.20%

Q37. Riya bought 250 erasers at Rs.17 each. She sold each eraser for Rs.20. Find the profit

earned by her.
A. 625 B. 750
C. 875 D. 900

Q37. RAT A 17 79 Y T ¥ 250 TN TN I8 TAF T H 20 39 & 37 A1 38% garr HfSid ansy &1

qdT 9T
A. 625 B. 750
C. 875 D. 900

Q38. The device used to measure atmospheric pressure is called
A. Barometer B. Thermometer

C. Ammeter D. Calorimeter
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Evening Session

Q38. FRIHS ZaTT F AN F AT gFEAAT 5 I AT IYFIOT FY
A. RART B. ¥&ATHY

C. THHY D. ShelIH

Q39. Pure water has a pH of

A. 4 B.5
C.6 D.7
Q39. g Tt # dtow. gar g

A. 4 B.5
C.6 D.7

Adv. No. 06/2016 Cat No. 02, Industrial Extension Officer (Industries and
Commerce Department, Haryana)

Q40. The branch of agriculture that focuses on systematic management of animals for the

production of milk and its derived products is

A. Poultry farming B. Dairy farming

C. Animal farming D. Milk farming

Q40. F Fr am@r i g 3R I e euTEl F 3 & AT Ty F ey yeuT W HRT ¥ 3w
gl ST B

A. 3T dTeTeT B. 7Y 3cUlee

C. Uy iy D. g7 FY

Q41. is the synonym of "EXUBERANCE".

A. Overflowing B. Brilliant

C. Enthusiasm D. Laziness

Q42. is the antonym of "CAPABLE".

A. Inept B. Skilled

C. Hopeful D. Graceful
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Commerce Department, Haryana)
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Q43. Identify the meaning of the idiom

"Do not judge a book by its cover."

A. Don't assess anything or anybody by what you B. Do not interact closely with strangers.
see.

C. Friends are most important. D. Make a proper plan.

Q44. The sentence given below may contain one or more mistakes. Identify the correct
sentence.

"Mother told Sheela must go to the village and met her grandparents.”

A. Mother told Sheela go and meet her B. Mother said Sheela go to the village and meet
grandparents in village. your grandparents.

C. Mother told Sheela go to the village to meet D. Mother told Sheela that she must go to the
her grandparents. village and meet her grandparents.

Q45. Complete the sentence by choosing the correct form of the verb given in brackets.

The match (postpone) due to heavy rains.
A. is postponing B. postponed
C. was postponed D. being postpone

Q46. fAFT reg FT ATIATHY 2reg TS |

faare

A. AR B.Tc)."
C. UTforargor D. 3#AY
Q47. faw= arsg &1 fAuda (Re#) aref sarsy |

famer

A. 398 B. 38R
C. fsR D. gars
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Commerce Department, Haryana)
Evening Session
Q48. Y@ifa aerat 1 37 3 Fard|
TS 379t A Y AT\ FT aRT B
A. SEd SIRT gl B. GUHIS gl
C. AT@Y & 310 R 37T D. §&IeT 9T &l

Q49.ah?}mama:ra§aa:raaﬁ|

EEiny
A. Sifory B. SifalY
C. Sy D. oY

Q50. A f@ ersg FT vFaaa T |

ot
A. T3 B. =T
C. gfear D. gfe

Q51. Which of the following test is used to assess the strength of the concrete at the pile
head to ensure that the pile is sufficiently cured and ready for NDT?

A. Ultrasonic Pulse Velocity B. Density testing of cast cubes

C. Penetration D. Pile load test

Q51. I & MY W Fehre A dhd &7 JFda wA F fav RArafaf@a & ¥ Fa aheror 1 3t Far srar § Gad
Ig giaftad g 7% f &7 waica ¥ @ FAK g oram @ 3K e, (NDT) & faw daw @2

A. ecEfAd geg qar B. T¥C FYH HI Telcd TETOT
C. yaar D. X agT glrefor

Q52. Which of the following theory is used to define the undrained strength of the soil?
A. Tresca B. Critical state

C. Steady state D. Mohr-Columb
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Q52. AF Y AR drhd & IRART T & v FAeafaf@d & I Fa Rgia &1 393k fFar sar @2

A. SEHT B. HgcaquT rawdr
C. FeR 3w D. HIgI-dleid

Q53. Side face reinforcement in a beam is provided where the depth of the web in a beam
exceeds

A. 80 cm B. 750 mm

C. 525 mm D. 100 cm

Q53. & i & WIEs Fu WWERAT Ygi AT Jar § Sgl 7 A 39 i TEs ¥ 3w B B
A. 80 ¥.# B. 750 fA.#T

C. 525 fa.# D. 100 .7

Q54. The Slider crack mechanism is used to:

A. Obtain a reciprocating straight-line motion from B. Transform rotation motion into translational

a rotating shaft motion
C. Convert circular motion into reciprocating D. Connect two parallel shafts, whose axes are
motion offset by a small amount

Q54. TATEST IR dF T TANT e F I & v fFar srar §:

A. T goiasfier e & Teh Fegreme Wel-3@m a1fd 9o B. goie aTid &l FIeR0T AT 7 deela & forw
A & faw

C. MR I T IARTHAY ITTd F Il & fow D. & THIHR e F Folde Fla & T, foad 3187
FS 66 o 9 AT §

Q55. Which of the following is an example of wrapping pair?

A. Wheel rolling on a surface B. Ball and roller bearing
C. A belt driven pulley D. Tooth gear

Q55. Arfaf@d & @ wia, v INT AL F71 v 3R B2

A. T TAg W gt Afelar B. dig 3T Ao’ F3Rer

C. T doc Farei X D. 7o e
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Commerce Department, Haryana)
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Q56. Which of the following phenomenon affects the performance of a compressor?

A. Hysteresis B. Stalling
C. Surging D. Dead space

Q56. faF # ¥ Fi & gear v FIET F ygekeT FY wnfa e ¥
A. fgefag B. 31dTeTeh B ST

C. 3TTeTsh JgaT D. 33 &

Q57. What is the free electron concentration in copper?
A. 1.1 x 10%° per m3 B. 1.7 x 102° per m3
C. 8.5 x 1028 per m?3 D. 1.5 x 1016 per m3

Q57. did & TadT STl ST THIIAT FIT §?
A. 1.1 x 10° ufd g7 #Hex B. 1.7 x 102° yfa ga7 #ex
C. 8.5 x 1028 gfa a #Hex D. 1.5 x 1016 9fq g7 #Hex

Q58. What is the material of the element used in an electric heater?

A. Germanium B. Tungsten
C. Chromium D. Nichrome
Q58. FafFeH €ieT # 3TN v S are ded 1 FHA FAT §?

A. SHfATA B. gareesT

C. mfaAaA D. fasi#

Q59. What is the composition of materials used in the fuse wire?
A. 63% tin + 37% lead B. 67% lead + 33% tin
C. 67% tin + 33% lead D. 50% tin + 50% lead

Q59. WS dR # 3TN gYet arelt WARKAT it FI==T #4182
A. 63% o7 + 37% Hram B. 67% HMT + 33% feat

C. 67% &7 + 33% T D. 50% fesT + 50% ¥r&r
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Q60. Identify the type of motor starter in which the starting torque increases the starting
current.

A. Squirrel cage B. Autotransformer

C. Direct On Line D. Star-delta

Q60. AT T F THR A Ugar Y A IRAF A, 3RHF FIT FY 997 a1 21
A. TEFazer &t B. TeIgiaweR

C. SRRF< 3 dBd D. ¥R-3ecl

Q61. In case of insulators, as the temperature decreases, resistivity

A. Decreases B. Becomes zero
C. Remains constant D. Increases
Q61. s7YEN F ATHA H, ATIAT H FH#! A W, FiaRrerhar [
A. FH g ST B. = 8 STl &
C. R D. §¢ ST &

Q62. What is the current value of Bohr magneton?

A. 9.27400968 x 10724 Am2 B. 9.27400698 x 1024 Am?
C. 9.27400986 x 1024 Am™2 D. 9.27400966 x 1024 Am-
Q62. ST HvAAT & FIE FT A = giar &2

A. 9.27400968 x 10724 Am? B. 9.27400698 x 1024 Am?
C. 9.27400986 x 1024 Am*2 D. 9.27400966 x 1024 Am™2

Q63. Which of the following program converts assembly language to executable machine
code?

A. Compiler B. Interpreter

C. Assembler D. Linker

Q63. fAFT & ¥ Fia A1 WaA, ATl T F syt AT FAfeT Fz & Jeo ar &2
A. HFATSR B. T

C. 3FeR D. fefert
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Q64. Which is the fourth layer of OSI model?

A. Data Link B. Presentation
C. Network D. Transport
Q64. 3N.TW.3TE. ATser & Tl wa Fia @ 22

A. 3eT ol B. SoieerT

C. Aecas D. rguE

Q65. Which of the following is a valid declaration in a C program?
A. int main; B. void main();

C. int main(void); D. void main;

Q65. fAFT & ¥ Fia, (C) WA & v AT Tyow §?

A. int main; B. void main();

C. int main(void); D. void main;

Q66. Which of the following statement is used to select any existing database in the SQL
schema?

A. USE B. SELECT
C. LIKE D. WHERE
Q66. TH.7Y,.UA. (SQL) FhaT & el His[ar Seraw it gawt & v fasafaf@a #F & frw weesie &1 swr fmam
ST 82

A. USE B. SELECT
C. LIKE D. WHERE

Q67. What does MRP stand for?
A. Maximum Retail Price B. Minimum Retail Price

C. Maximum Rate Paid D. Minimum Rate Paid

Q67. TA.IR. Y. FT T A F4T §?

A. IEHIH GeIT 7T B. ~goIdH Gl Hed
C. s & AYeh D. YAdH & AYeh
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Q68. Identify the correct pair of substitute goods.

A. Leather shoes and canvas shoes B. Tea and coffee
C. Bag and briefcase D. Pen and pencil
Q68. TUTATIe=T FEJHT Y Y S FY Ggama |

A. T8 & S 3R Shetard & S B. = 3R i
C. &7 3R sfrwerg D. o 3 dffer

Q69. From the given graphs, identify which one represents perfectly elastic demand?

4
o o
@
8 8
o oo
D D
Quantity q Quantity q
Figure A Figure C
o o
: \ 2
& D a D
Quantity q Quantity q
Figure B8 Figure D
A. Figure A B. Figure B
C. Figure C D. Figure D
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Q69. ¥ Ru 71w I #, Tgares H FAer F F g9 @ Fh, O @ ¥ drwer A 71 vt wwar 2

4

o o
@
g 2
o oo
D D
Quantity q Quantity q
Figure A Figure C

o o
& D a D

Quantity q Quantity q

Figure B8 Figure D
A T A B. @B
C.R=cC D. 3D

Q70. Which category of goods comprises of salt and sugar?

A. Luxury B. Necessity
C. Inferior D. Superior
Q70. 75w 3t eh, avqgat Fr e Ao #F s §2

A. faenfaar B. 3TaRTehdr
C. 3R D. 4TS

Q71. Goods and services that are used by the consumers directly are called
A. Consumption goods B. Capital goods

C. Principal goods D. Necessary goods
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Q71. WY susiEFA3t TR 3UATT FT T ATelr aFGIHT A Farat A 8T 1T B
A. 3THIET TEJT B. qefioTe awqe
C. 9l FEqU D. 37Taegeh a&qu

Q72. Which city is the trade and financial capital of India?
A. Ahmedabad B. Chennai
C. Kolkata D. Mumbai

Q72. 9RA &Y A 3R A Tsrem=t a7 §2

A. 3TgHCEIG B. d=Ts

C. relehrdr D. Heg

Q73. Budget is not prepared by the governing bodies in India.
A. Union B. State

C. Corporate D. Municipal

Q73. ToC HRA A A FAFRY garT AR A A Freh @

A. g B. 5T

C. ®raRe D. FIRUTToI

Q74. In the given business cycle graph, what does the downhill of the graph indicate?

Equilibrium

A. Expanding Employment opportunity B. Shrinking business opportunity

C. Depreciation of long-term assets D. Period in which an asset is expected to be used
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Q74. BT 1T AT T ATH A, AP & SI3ATE F4T SATdT &2

A. JSHIR & IR & [AEAR B. fFsa &1 caaris 3raw
C. grdefoes aiEafcaat 1 Aeaerd D. fo9 3 & ve gREUlcd T 39T gl &1 351G &

Q75. The Scheme introduced by RBI to redress customer complaints against deficiency in
certain banking services is

A. Banking Ombudsman Scheme B. One Time Settlement Scheme

C. Debt Restructuring Scheme D. Priority Sector Lending Scheme

Q75. Fo Ak qanait # Fl & Reg aew Nemal F1 Haror 7= & [ 3R . ar gw
6 97§ At &

A. SfRaT SreRdTer ArSTeT B. T& ST fovere st

C. HUT YaTee Fefell D. SrfAehdT &7 FOT Arstelt

Q76. Which of the following is the apex institution that handles refinance for Agriculture
and Rural development in India?

A. SIDBI B. SBI

C. RBI D. NABARD

Q76. 37 § FIeT I Halod FEUTT ¢ S 7R & F 3R aefor R & e goafdea F1 w7 dorerar 2
A. T&ssT (SIDBI) B. Tg.&.31s.

C. 3R.&.31E. D. atets (NABARD)
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Q77. What does M in M-Banking service offered by Banks stand for?
A. Message B. Mobile
C. Mail D. Money

Q77. 3%} gart yFarfad vA(M)-3R5r Ja1 #H TH(M) F1 Ade F41 §?

A. Aot B. HisTsel
C. Ad D. #Hair

Q78. A country that does not trade with other countries is called

A. Developed economy B. Independent economy
C. Closed economy D. None of the above
Q78. T VHT 3 AT 37 1T & Y AR ¢ FIaT § 3§ Fed ¢l

A. fafad srdegaear B. TadT Jdeaaean

C. §¢ ¥dcgaear D. 3A# ¥ &g ot AT

Q79. The increase in the inflation-adjusted market value of the goods and services
produced by an economy over time is called as

A. Economic Rent B. Economic Productivity

C. Economy Quality D. Economic Growth

Q79. ¥HY F WY TF FIeTaEYUT AR 3cUTied aE3it R Fanait & Farrhifa-wamafaa aom fe7 # 3y #r
T ST & |

A. 3 R B. 3f¥e 3curgandr

C. r¥egaeyr aurdear D. ¥ afg

Q80. Coefficient is an indicator of income distribution.

A. Capita B. Gini

C. Lorenz D. Engel
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Qso. IUTI, 3T FAAROT HT TF FHhaF B
A. Hfder B. freir
C. dRest D. o

Q81. The process by which a nation improves the economic, political, and social well-being
of its people is called

A. Inflation B. Capital Stocking

C. GDP D. Economic Development

Q81. 5w ufthar garT v qer 9= AN F 3, Terefas 3T AT Feamor Ft dgar a1 §, 39 9iFar F
FT ST ¢

A. Ferehfa B. &hfdeer Teifehar

C. Sfr.3r.dr. D. e e

Q82. Which of the following texts was the first authoritative text on public finance,
administration and the fiscal laws?

A. Manusmriti B. Arthasastra

C. Tripitaka D. Dharmasastra

Q82. rfaf@a # ¥ Fla &1 ure, AT faed, wemrwe 3R R Frer 1 ggem v OF a6 a1?
A. FTEgfa B. 3rdemer

C. Bftes D. &R

Q83. Rahul has sold his property at Rs. 1 crore. However, he had bought the property 5
years back at Rs. 60 lakh. What is the tax he has to pay on the profit realised on the sale of
the property?

A. Capital Gains Tax B. Service Tax
C. Value Added Tax D. Corporate Tax

Q83. e & JTA Fufed F v F3 T F A7 R ¥ #1e0if, 3760 5 W1l g wufed F 60 7@ A @ Tl
wafed $1 fshr av SR fFT a1T a8y 9X gF FAT F $IATT FIAT G2

A. GTT oITe &Y B. @ar #
C. Heg i &Y D. HraRe T
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Q84. Which of the following economist's work 'The Theory of Public Finance (1959)' is
described as "the first English language treatise in the field" and "a major contribution to
public finance thought"?

A. Paul Krugman B. Richard Abel Musgrave
C. Janet Yellen D. Glenn Hubbard

Q84. faF # ¥ fry rdferE Y W 'T LA AHTE yfedF BrET (1959)" F "&F & A HTT FT qger A"
3R "wrdefaE Red AR F v wogw Aeee” & w9 7 aftta B srar 82

A. difel e B. R=r$ et ara

C. Steic JeleT D. Tl @Té

Q85. performs the central banking operations in India.
A. State Bank of India B. Central Bank of India
C. Union Bank of India D. Reserve Bank of India
Qss. T F v IR afamrereT Far 8

A. AT ¥T dF B. Tcor I 3w 3f3ar

C. gfetaet d 3itw Sf3ar D. #Rd™T Rea s+

Q86. What is the main mode of transportation in Indian Economy?

A. Airways B. Roadways
C. Railways D. Waterways
Q86. R rdearyr # aRaea F1 qET aliar F41 82

A. argATe B. HSHHATIT

C. YoATT D. STerAmT

Q87. Which one of these is an example of direct tax?
A. Income Tax B. Service Tax

C. Value Added Tax D. Stamp Duty

Page 24 of 28



Adv. No. 06/2016 Cat No. 02, Industrial Extension Officer (Industries and
Commerce Department, Haryana)
Evening Session

Q87. 3 ¥ &, YcIaT FT FT UF 3TV ¢?

A. 3T B. @ar #

C. Hog aftid X D. T Yok
Q88. Globally ranks first in the production of milk.
A. India B. Netherland

C. New Zealand D. Italy

Q88. T T W W I Ig g F IcUTesT H FIT @ ¢
A. gfsar B. eelals

C. =g el D. scell

Q89. Which among the following is the largest Bank in India by total assets?

A. ICICI Bank B. Bank of Baroda

C. Punjab National Bank D. State Bank of India

Q89. Ffaf@a # ¥ Fla, wrqol aRwufea & YR W #Ra F1 wa@ 731 3% 82

A. 3TS.EY.3mS. @3S, B. d& 31T ssier

C. YT AT ek D. #RAT V< I

Q90. Crude oil production and infrastructure industry of employs over 2 million
expat Indians.

A. Bahrain B. Saudi Arabia

C. Kuwait D. Iraq

Q90. FT %3 e 3t AR AT FraT 35NT, 20 A F A AR AT F AR v B
A. FglT B. §3<! 3RE

C. %dd D. 5%
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Q91. Which among the countries below is the largest source of International tourists to
India?

A. European Union countries B. Japan

C. United States of America D. China

Q91. A R arw ot & & &l AT g2, HRA A HAUAT qdew! T TaH 37 A §?
A. JUUT §E & &2 B. ST

C. TgFd AT AR D. =T

Q92. Ms. Mallika Srinivasan was awarded with Padma Shri in the year 2015 from trade and
industry category is associated with

A. Tractors and Farm Equipment Limited B. Tata Motors

C. Force Motors D. Kirloskar Oil Engines

Q92. g+ afeasT sifaarws #t samr siv sgier Avft ¥ a¥ 2015 # wwr 5t & wefaa v e o, 7%
¥ T E

A. Il US B sfdausc faffes B. €T Aley

C. B Alcq D. Rl 3iTae Soied

Q93. What is the tax bracket for luxury cars under the Goods and Service Tax (GST)?

A. 5% B. 28%
C. 43% D. 15%
Q93. AT 3R FarT FT (. TH.A.) & dgd dFa FRI F fov TF7 dFe FAT §?
A. 5% B. 28%
C. 43% D. 15%

Q94. Which firm delivered C-433 and C-434 high-speed interceptor ships to the India Coast
Guard?

A. Andrew Yule and Company B. Larsen & Toubro

C. Jord Engineers India D. Heavy Engineering Corporation
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Q94. fFH BH o HRANT deTaTH Tl F1 C-433 31T C-434 gE-Tiis FeAT gt 1 BFelad f?
A. USY Il TS el B. ST Us gl
C. Jfs selfaras sf3ar D. gar gofifaaRer e

Q95. The Union Cabinet has approved a proposal to provide US$ 150 million credit from
Export Import Bank of India (EXIM Bank) for the development of .

A. Chabahar Port B. Gwadar Port

C. Khor Fakkan Port D. Port of Merak

Q95. iy AfFHza o ¥ fFw ¥ T teaaie gFae dF 30t 3T (vides &%) ¥ 150
fferae 7, v, STeR FT HOT JaTe FXa & Fearg A Hlr & &Y 2

A. BEER FCI9E B. 7dTeX §eI9TE

C. ©R FeFhel S8 D. A g

Q96. Expenditure incurred on normal running of the government departments and
maintenance of services is

A. Asset expenditure B. Revenue expenditure

C. Capital expenditure D. Non-recurring expenditure
Q96. THRI st & FAFT g IR FaBT F @I R Fravaag

A. gufed =g B. TeT¥d =1

C. geirard D. 3R 3l =z

Q97. Where was the fourth session of the bilateral joint commission on economic
cooperation between India and Poland held?

A. Wroclaw B. Opole

C. Lublin D. Warsaw

Q97. maﬁtqﬁg%aﬁammwwaﬁwmwmmﬁmmrﬁgm qr?
A. gieFelra B. 3fGrer

C. oafore D. g
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Q98. The amount of cash or fund deposits that the commercial banks need to keep with the
Reserve Bank of India is referred to as

A. Cash Return Ratio B. Cash Reserve Ratio

C. Cash Refund Ratio D. Cash Reduction Ratio

Q98. FFHA! IT UTHIY STAT T TR A FIfOIfoTF dF F s Rad 3F & 9rg @ g=ar §, 39 R #:¥
el oI B

A. iehe, Yicthel 3fefard B. sfehe; 3TRTEY 3fefarct

C. #fehe; QTR 3fefard D. ishe Feld 3fgard

Q99. Which one of these taxes does not fall directly on the individual's/company's income
and can be transferred to others?

A. Corporate tax B. Wealth tax

C. Income tax D. Service tax

Q99. s71H ¥ FiT & F, WY sufFa/Fuelt F 37 W 7T woret § 3R 7§ g Y gFATART Bar S HFar §2
A. FIART & B. &l &Y

C. 3R D. §a1 &Y

Q100. The expenditures incurred on defence forces, public health and education schemes

and civil administration is categorised under expenditure.

A. Capital B. Revenue

C. Monetary D. Financial

Q100. T&T Tal, FIdaTferd FaEeT 3T e Asrasit 3R AT g W fFv v =77 F =
& e geftera B

A. g5t B. Irsied

C. #ifgw D. facchar
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